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SECTION—A /3—3I% /3—I¥l / —aTegRT [ —WTRT

For each question given below, four answers are given. Out of four,
only one answer is correct. Select the correct answer :

©oq AfSCh1 e BIRGILE Teq i wew | BIRGIR foese e «Biez e Ted |
@quﬁ%ﬁw:

Aevx =Afefb eream SR I Teq e wicy | RMA e T@ IR W%
mli‘ﬁimﬁmm\@:

TEER dRem @R A e e ) OeeR AeE e e
1 & ferrart wrra’ R

Fra e T R v ¥ R AR I R ) 9w § @ daw o Iw wd B
Hﬁmﬂ'ﬁ?ﬁ'ﬁ,

A solution turns red litmus blue. Its pH is likely to be 1
b1 ¥ F1 foibares Nem w¢a | T/ pH 27 A

GG T A AP N 3o 93 | 97 pH 20S A1

WA TiererrasT M e e @ | 4 pH s e

I3 Torerm o foromm Y e o 361 €| g9 pH gevEa: 59 8

1)1 (ii) 4

G 10

An element reacts with oxygen to give a compound with a
high melting point. This compound is also soluble in water.
The element is likely to be 1

9Bl (TR SRETETR @S RiFm IR O semies Qo Teow T |
(T6IH! NS TRAT | TR (TeICo! 2

Gl (Mo wficweR Siex RiFw 3 % semccag Qo Teow 3T |
it & TR | WY (A =gem

mwmmwmmmm@a
amfsET | G e e | gRgarar S gy
aﬁﬁaﬁﬁmﬂm%ﬁwuﬁmaﬂﬁmw@m%
N B | 6 AP 9@ 7 e 1 9w w©T wovEe: wn e w37
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(1) calcium (ii) carbon
(FITRA IR
FEAPRT IR
Faram e
Ficam EACE|

(iii) silicon (iv) iron
fefere iz
Hferem SR
INET| I
fafera Al

-

(c) AUsing Mendeleev’s Periodic Table the formula predicted for
the oxide of element K’ is

st fige of@ Iz IR s T K (TR SHReoR
S T

Feofirsa oHige o/l IRTM A T 1 ‘K’ (MeR SoRey
ALFS Al

AR R wiies SREER g K qRgEf st
GO ST

A2t i 3ad Ao 1 ST W IFEE Fifve fF K & Atadass
T

(i) KOqg _4i) K0

/(d)/(ﬁi’/xzos (iv) K20q
Sphygmomanometer is an instrument which is used to

measure the of a man. 1

IR CANOR @Y ¥7, TP TRA G I929 41 = |
~PSAVCANDR GF 2T 77 AT TR Mo\ wen 92

A AN
THEW AR dHE T s AR s e aEe
AEEAE S|
feraiarfier w YEr 9 R, foraet W e % I A % fore
Toran <t 21 .
‘}i)’ﬁood pressure (i) Og level in the blood
& (S&S Oo-F VI
JEH WE 0o-3 Tl
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fF AR ¥ 0 7 5'a
S T &t Og & &R
(iii) blood sugar level \(inx-level of urea in the blood
(oS A Tl (oS YA Tl
S e RA 5 @l
# y ¥ TR T A 9P % T

The growth inhibiting hormone found to be present in

plants is 1

BfEre <1 IfacanS WA A EEaE
TR AR I 2R A %%
ARFEI TREARRE Y WA 8T

qreqt # Iufera gig-us gt &

(1) auxin (it) gibberellin
3 fearcafem
L2 fErarcafem
fRA Fremfem
i Fereitfem

(i) cytokinin (iv) abscisic acid
LRGSR PR «fbs

RO E%aE SRR s
A FRER %@

en two pea plants, one with yellow and round seeds and
the other with green and wrinkled seeds are crossed, the
plants of the Fy generation will be obtained in the ratio of 1

ammmﬁquﬁm%wwwmmm@m 3
ammwmmﬂhmmmﬂﬁWﬂmqmi?
CofR oS T sRE@R R el CofRT T] Biehr 27 ’
436 T IR TR A A T GRS R ;
mwaﬁﬁamwmww&awm?@w%ﬁs%
SRS @ ST “Neqt R Gt == by
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FR T R G TR AT AW FRAI Ml AW GY-GIAT AW
IR 7R F A el T 9 R e A e 9w e R AR gl
st aren, F HHO FET ST, @ Sad Fy digl % dl # sigea
Ll
(i 1:1 (i) 3:1

(i) 973:3:1 (iv) 1:1:1:1

(8 ere should an object be placed in front of a convex lens to
get a real image of the size of the object?

THRE T TFRT A AR okt 2’0 TRl Tee (TR
TS (I FF© R AT 2
FHIG A WA ST (TS A AHRE0 T@e (FIeAR TN
I T TS A ?
TR GE A Retieme 99 geafEE {9k gar delsear SR g4 i 9]
@ AT
et form & wwA R (W) 1 gt Sfafas ww w & forg fow
I I I % A FET @ AT Tfee?
(i) At infinity

TS

ST

e My I

I |

(i) At the principal focus of the lens
TR Y F IS
(TR T3 GG
A MRS H R
3 ¥ e EE W
i#f) At twice of the focal length
TR (I 139 yawe
CPIRPPT CT0H 12391 T
% HE TSR A6F TR
iR gt i AT 30 w
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(iv) Between the optical center of the lens and its principal
focus

TR SRS A T4 T I TS
(TR ST G- T (T TG
oA e A MER B HE A Ao
oG F YeRIiTEh FE qY1 G BT & d"
(h) The formation of rainbow 1
TR
Elbicy]
TRy

(i) occurs in the same direction as the Sun
TR a3 s 52 =
T 3R fics afds =
THl T e amien
& R & 7 @
(i igl),,/ercéﬁrs in the opposite direction as the Sun
3R RefRre e SR =g
A R fies e =1
AR e Rrerma gmtw
T H ol R § a7ar

(iii) does not depend on the direction of the Sun
A fem eopge sy em
T ¥ Bore éq 7
AR Rfy e g
@ R w Rk 18t
(iv) None of the above
8 GoIe oy
TR e 7y
TR ARE 71
IRE F A B 7
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(i) _The SI unit of electric charge is - 1

/ Rpe TR a7, TE. G

e ST P, TR, GFF A
fore 3T 1 . R, WOF §

(i) coulomb (i) volt
g b
FeTd CSI*0
e L [
FAH qee
(iit) watt (iv) joule
b kg
< Ky
e kS
aw kY

() Which one of the following is an example of non-conventional

source of energy? 1

SO (FICO! SRS Mferq e 2

A @D SRS &g TH 2

T g ifera Afs wikel Fa?

= § @ - - FS-|a H1 T /e 27

(i) Fossil fuels i ermal power plants

GrarETe T orifefes e om
SRPISS X orefefes e ow
ATg ST e m& aifm
sfraredft e Fefig T T

(iii) Hydropower plants ﬁv)/Solar energy
TS o4 G
TR SR qrIR TR
SIeT-Ifth T or 3t
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SECTION—B/4—e! /"l J@—agrn /[ E@—rT

2 Write the balanced equation for the following chemical reaction :

o IPTERR RFER 1 ke e B

Neva PR Rz &= Sereyf AR e

TR TARETR R arE g s fo

1 2 e e ST 3 R wegfer e T :
Hydrogen + Chlorine — Hydrogen chloride
G + F R — 2RG T F AT E{#g
TGS + QAR — XY GRS &
TR + TR — BRI FAES
BIESSH + T — SRS FARES

8, Give an example of a metal which is a poor conductor of heat. 1

g3 <BrE Trizad i R orR W R |

b 417 Trzae e @b ©ew ¥ ARIR

urg WAt fafef= & s engen g @ ¥R

T YIg 1 IETEWT AC 1 HE1 Y Foersh 8|

)ﬂfaw the structure for the compound butanone. 1
REGH’ (QCER 1o SR |

RGBT 10 Sl |

feRera @ty g el
=AM Afirew F w=n Fafi| fiftm

5. What is genetic drift? 1
/ Ham Apre 2
e W Jt 2 E%5E .
SR St me %@
STARTH IqaTe F1 37
Or [ 71&31/ 5ot/ var/ sream
| /’Wfat is variation? ‘
Mﬁﬁ:ﬁ@ &2 k
ffSwer 912
T@ma A1?
fafvrar == 27
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W do you mean by least distance of distinct vision? 1

7 oof 84 PN G WA R 2
=off %Bq PO YAF A F 2
T FuEf @Al ST me

geqe 3y it teTad gt | F tfa 37
7 at is a balanced chemical equation? Why should chemical

equations be balanced? 2
e IPTHNG TP 7 2 IR FRaeprR Fra Tere $RT = ?
ety AP SRR T 7 IPTREE FAFIPRR (T S FCe 2 2
Y TERAR GERYEE W7 (ERATR GHFYEeRE A G
QAT AM?

TR THEtE aHiE w27 TaEfE e B g e @
AEEF 27

Wn why does an aqueous solution of an acid conduct
- electricity. 2

R «Br i 7R R Ripe 1Rz 3, 00 3940 1
G3fo mPTer wam 73 (3 Ryge oz TR, I A |
el denit Mfererae A A AT SEE)

It o welt et st fomg 1 =Te S 8, s i)
4@@ the help of suitable diagrams, describe the food obtaining

process of amoeba. 2

ToRye fBa SRS KR A SR 2Af I 396 4 |

Torge foras TRICT SR 4 Srzge e 3961 |

AT RIS SFTITeTE TiET STER ST SeeE! s |

39 Tom <Y werEa @ enfian § Wis wew A H wika w1 quia Hifv

Or / 71%31/ w23t/ war/ srerar

What are the biological catalysts? What is their function? 1+1=2
(o SEOIRA 3 7 @37 I B 2
o SRbsf 2 qafm R &2

TraeTR AserIrEn M7 SeRf gEE) o
AT I 1 §? FHLFE T R?
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Mme the respiratory pigment present in our blood and state its

1+1=2
~— function. |
SN mwwmﬁ«mﬁmwmﬂwmn

wwmmwmmmmm@mw«@fmn
Sy Yo giemn R gEl for m%ﬁ‘m@w |
Bﬂﬁtﬁz(ﬁﬁ)ﬁw@amaﬂhwmﬁ«rﬁaﬁ@mwaﬁmaﬁﬁm

Or | 71&31/ 9431/ Tar/ gar

What is ATP? Why it is known as the energy currency for most
cellular processes? . 1+1=2

ATP 7 e (o @fRen @RI aferrm e Rored &= am w2

ATP 917 ¢ft @Ier Qe @R aferrr «fegm e #fifte @2

ATP=1 71? s@ Rafaf maifm fefai fefEert whe sweg e
?

1 47 st AR s 3 R T S g @t e 2

ith a neat labelled diagram, describe a nerve cell. 1+1=2
A% e fBaa e wmcem ol 2T w0 )

a5 %M Bie Boam e @l Fngeercas 31 we |

T e Rfnm aemfhf twememe femieiy T a9
@mwﬁaﬁaﬁm%ﬁﬁmﬁ&wwmhmm

_— Or | M&31/ 5% 1/ war/ sreray

escribe a reflex arc.

2
A9 4 @BR I fin
36 ASI o I 71 |
TE AEGA ST AR S@aty |

, gided] =9 = ol hifs |
‘& ow does a unisexual flower differ from a bisexual flower? Give
4 one example each for both the types. 1+1=2

GFERM P I TR Porets @m0 TR IR
SRl wm

G o~ FeI Tl TR LT 73?7 T2 AR, G R el W |
aamﬁwmma-ww@m?mmmm
@%ﬁgmwmﬂgwﬁww%?ﬁ%%qw-@maﬁm
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Or / 7&31/ 9931/ var/ 94ar

Give the names of two agents that help in cross-pollination.
How do a seed and a fruit develop? 1+1=2

T RIS OIS T T IS PR AN ore | B Aw WE O FoH
R @A T ?

¥oq RIS BICS TR 1 IS Goq AW @A | I I R 4
0o Rr Fera 06 2

AT EET T YT 2 A e g R A R O
oz ST AER S

TR & T A A % AW e | wh A 3R T s w1 B
TR B @ 7

yﬁl the focal length of a convex mirror whose radius of curvature
~" is 30 cm.

30 cm ST% IPTYR TSA TN 9X7T T FR O e #41 |

30 cm S/ PPICET GFb T&et Toftom @FRPT el fAefa e |

30 cm TG GEEHT T ARAT T F HE FTHIEE! g

30 I 240 ) B g wra A, et sswa-Bsar 30 cm #)

//

<’yioﬁnuch work is done in moving a charge of 5§ C across two
~— points having a potential difference of 10 V ? 2

10 V Req (o3 451 R qeed 5 C S oifere Fedice Ry ol 3@

IR 2
10 V RS st 1 R T4 ficwy 5 C 4 ifore e w7 vr( Fa0e
A7
10 V arafy $RE I9E 997 =R et 5 C w9 S9s gEn
TSP ¢
10 V e & 3 fagelt & 9 5 C smw Y @ 9 § fram =@ R
ST &7
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15. y do two magnetic lines of force not intersec

/ O (B AR, R oI PO T ?

t each other? 2

00
o (B FECAN (P o oG I A7 %%
31 g IR GTEeT A T T T A

A g At -G A Sfede i T

ive any two ways in which biodegradable substances would affect
the environment.

2

8 Rl “mIE AR 2rei R 2[5 TSR ey foran |
& fFael e ARTICT 2SR @0 17 9N i ISR REC el |
Rgei Jam RrEer eeEm@) e @ieHl grit 3f 7Y T 8

16 ¥ 2 7 gersy R 3 Frefl T et B i w60

(% the different trophic levels of a food chain with examples. 2
E%5E

B A 3o RfeH (MR s R Tz B | %
B I 3R fR{few (MEs B ey Ta=aePR (e |

A wg AR 17 1 g aee drerE o RFER Yeeest
fafem

meR s % e 9 i A vere wfta v
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//

M metal compound A reacts with dilute hydrochloric a‘cid to

‘ produce a gas which extinguishes a burning candle. Identify t}.1e
gas produced. If calcium chloride is one of the products for@ed in
the above reaction, then name the metal compound A and write the
balanced chemical equation for the reaction. 3

51 qTSR QT A oY RG'FRT «fieq Gice R IR Q61 (o TR I,
R (IR U WO A WA PEN | @ oA @@ (RCE! o 40
RIS Teom (A @B (9l (IR F'IRT 27 qred (T A-F TN

435 41eq (A A oY YGRS Sibes Ao R w09 @b P SeoH
F@ @ @I T RIS RS om 1 eom 2ew AP TS FEA |
RN Tesm 260 @I Q5 FEABEN GFRRS T 4o AT A-9g TN
e e Rfgiea ety i SRl @ |

uigfl W A 31 ¥eTe es T R qRre e S AR T /i
T G S A T A e @R | G g w7 s
Ao AR W FaiEm 9 se e aight @) A 7 g R em
ety Ty TR gems for)

1§ Uiy N A aF TESIEcieh 3 & WY AR W T T I wdt
2, W St dwe H gE I ¥ 39 I N h vewm hifg) 9k s
Ififsran # I Nl § ¥ T FiEm Fse 7, @ uig N A F1 AW
5T a1 39 AffR & g sgiera Tamfe e fafau)

Or / 231/ w<3r/ &t/ sear

What is acid rain? How does it affect our aquatic life? 1+2=3

X I9FT B2 T INR wo® &7 (aquatic life)d @S @FEME oo”
w32

i 3R 2 afb wIcE W SEE TR PeR qor e 31 2
e @ A7 @ S 2R Reaiert e aEt Tem deE?
Wt It FOR? q® TR ehE SEwiEl B sechfe w5
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. s . ith about
. Jution is mixed Wi :
T If mL of sodium sulphate solutionl nce is
‘/‘9/3::3.01;; garium chloride solution, a white insoluble substa

duced.
iﬁ;&mimaam%ﬁmaﬁwmm@ﬁm@wmmm

ﬁmmzﬂ,maﬁwmﬂmrtwﬂfm
ﬂﬁBmL*ﬁﬂKﬂcﬂmWnﬂaﬁm3mL@ﬁW @RS U9
mﬁﬁﬁw,m@@wmwwﬂt<ﬂﬂﬂl

ﬁgsmLma’%qmmaﬁraﬁnﬁwaq‘mﬁ3 ], T W FTEEH

e TR ST, e R TR e e WAt | N
R @ 3 ml Sifean geke % faera @ @ 3 mL Sfem wIES

foerm & /ﬁﬁmm%,aﬁ@aﬁﬁamﬁﬂﬁaémﬁm%l
/ﬂ’ﬁj the chemical equation of the above reaction. 1
@oq RIGFACHR IPTRF FANFINOT #1407 |

oA Ry armfe SRab @il |
T ferememef TR armaTEE o
¥ e gamEfe wHwm fafag)

at is the white insoluble substance produced in the above
reaction? 1

@oq RIFAEe Teom @R 360 SmEy ot & 2
Toicag RfFniice Teom 2w M SRy e Fi 2

Tenf R dmfsra TR afar gam @7
IFh ATTERAT & I T%he e qard R g7

(c) - To which type of chemical reaction does it belong? 1

- @3 R B oeRe e RiFR swsfe 2
< Rl @H oor e RiFm swsfs 2
EREZEIRIRI R RVCILIEREEE 1D
e Afwishan foha SR it et i % st et 27

Or | A%t/ 9%31 [ war/ srerar

What are oxidation and reduction reactions? Explain with examples. 3

R o ReRe Riueam &0 AL TS ot fora |
w3k e Risme 2 wmeer 3R@ e
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AffeeTE 3R ARETEE fesrarer o7 RS s o
3qgaa 3R rq=Ea it T 87 e afta e SN

20. What was the basis of arrangement of elements in Mendeleev’s
eriodic Table? Besides gallium, what other elements have since
been discovered that were left by Mendeleev in his Periodic Table?

1+2=3
crafed (e SRS (eERs & fofee sicar t2fke ? ofermT Tifke
-G (@251 (Mo AR (D TR (@R R (efrs o969
wiferReTe 312 A ¢ (o 2

crefeitsa “rige iFrre (Meakis & e e =@ 7 e
OIS B (P (Tl SRER 267 LR (s S SferRs T 0
fovcafece= 2

Aufevfy  areail wiftegEE (RgEeRE @it wEmE o @ e
YA TRHA? AREWE M a9 JRYETeRE  arEd
TREeRE g R audfaven fagift wiftemgae smm et
ﬁ.:h?:— :?

et Y T TR F A B fRe R W smafera fmn wan et Aferm
& fafees PH-FH A dw H A =S & a7 Aeefi® 3 @l wE s
fean an?

Or | 7%/ 9%t/ var/ srgar

What is the need to classify the elements? Mention the limitations
of Newlands’ law of octaves. 1+2=3

(o cfeEs R gEmamel o eew wis R
SRFeIE TEY 390 |

Teigfr  cARerm TR aasTme f2 Wemer-a w8 e
ARzt oae e |

g e A 7 P Sew R dera

TG |

Al % RO R R ARl B R F o gy B dweit )
fofaw |
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ments arranged

ble, some groups of three ele :
: re given. Find

ing ta
In the following reasing atomic masses a

downwards in order of inc ] |
out which of these groups form Dobereiner triads. 3

Groz:p A |Atomic |Group B Atomic |Group C|Atomic
Mass_ Mass ) Mass
N | 140 | Ca | 401 | Cl | 356
P 31-0 Sr | 876 Br 79-9
As | 749 | Ba [1373| 1 |126'9

WEWWWWWWWWW,WW
@EBWWCN%WMMWWM@GWWW

IR Fefg 11
A |AmaRACTEB | AR | ool C | AR

W | = | =g | EEpE
N 140 | Ca | 401 | Cl | 355 3‘%

P 31-0 Sr | 876 Br 79-9 =

As 74-9 Ba 137-3 I | 126-9

e efeitre b (iR IEIn oM @em AR Ciekice AmNaRs
o Afew Faenfices e | il W @FMsh (CTRIEER TS
- st R e e

ZTA  |REIRACT B | R | @ C |
o9 = oy

N 140 | Ca | 401 Cl | 355

P 31-0 Sr 87-6 Br 79.9

As | 749 | Ba | 1373 I | 1269

EU _ ¥ HISRHAT Ho™
ferETta lmémaﬁlmﬁtﬁa%mms%ﬁwﬁmm

E5E
A TR e B\ TR | @rn O g L
— Gl -

N | 140 | ca | 401 |
P 310 Sr 876 | Br | voc

As 74-9 Ba 1373 | T‘
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ot wToh § dR At F 3O WIE P T FEEE S TE SR A AR
) 3t afE fr T 2 T amge R g @ FE-A e SR B

Loinikd
#FA | WAy | @EB | vy | EC | 7Y
AT A FHHH
N 14-0 Ca 40-1 Cl 35-5
P 31-0 Sr 876 | Br 79-9
As 74-9 Ba 137-3 I 126-9

22 ich is the main thinking part of the brain? How can any smell
. be detected? 1+2=3

TR¥T U BE-SRAR w1 @ ? R @ omm @ B Fe
o1 T ?

WRFR T B1-SRAR et (A 2 (T P! o P ey 1 W 2
AW TER T SRR WRET? SRRESE GG AER AR g

wferss & SH-G1 W 7eId: Qe W aaia Benetlt w awar R7 & e
T 1 AT Y T 87

Or / 7&31/ 993t/ Tar/ Jgar

How does leaf movement of the sensitive plants differ from the
shoot movement towards light? 3

Regu SN SR oS o AREGARDT S P g SAied
¢z e sifS 3 <REBAIER e =1 % 2

FEF AN ST MOR boil “MRROIM R P (et weraiaifba
weer fices o a1 =ifReBfoa weg o 2

ARG e o' AR aER HR e ?

giad et Y i i, sy H 3R e Fi & Rea v e R?
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| Wh i 1+2=3
at is a placenta? What functions does it perform?
\ /

AT 1 (2erhl 7 % & I T I ?
SR T ACTE B2 G B IR TR I ?
e T e W A A A A
A= FT 27 T FH-HA G FA G Al 87

Or | &/ 9%/ var/ 44t

What is germination? From which part of the seed do the future
shoot and root develop? Which part of it stores food? 1+1+1=3

Wﬁqﬁs?%m@mwmﬁsﬁwmwsﬁwﬁmﬁaﬁ@
WA @ S 4 A FR AW ?

w53 N7 @3l e @ TN (WF SRS TS 32 SfEred Hee
e =7 @3 (@ T AW ALT FCI MY ?

T AEE WY AR AR w8 a@etwE 3 Ay o 37 e S ?
IR =9 TR ARG SH WA ATE?

I 1 87 i F R o A el TR aen sl g faefa B 87 T @
¥4 Qe GUE Bl 87

ow many pairs of sex chromosomes are contained by the human
beings? How is the sex of an offspring determined in human?

1+2=3
TR AR Q9 TN 32 IR ? TR (Fd© 5@ B9 (@eTmea
R =
TE TS (FO (A9 FEACEN 2 I@ ? TR O SWCR B Do
e s =2
AR A I W W 47 AR A TR eneeE Te B
QAR ST
et 3 R o o & gm B #2 A & w2 Rem-Rafon 3 S 2
Or | WM&/ wet/ var/ sreray
What are acquired and inherited traits? Explain. 3
IS S ILTEFESF SR R 2 v <97 |
wfefe G2 ILTTFRR SRz F 2 1 e |
mmmmﬁma@mm%@m
maﬁamaﬂtaﬂmmﬁaﬁwwéﬁﬁ?mﬁﬁm
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What do you mean by an electric circuit? Draw an electric circuit
comprising of a cell, an electric bulb, an ammeter and a plug key.
1+2=3

tapfes 38R WA & 3= @R, gfes M, GRBR == o1 BT e
o1 (APfes TER B s 1 |

e TR e P QA7 @R, YRS 7@, TREOH G<R 2019 5P
3 Capfee T o wre= e |

fem dieuy A W oghE? ded, Afem W, e IRty
FHETEAE AR AT gra-amsi gamit enfa |

forgge wRww =1 = o 37 o A, T ey 7ow, T i a4 T @ F0
¥ fireeR =1 w= faegq afy =1 s Ry
Or | 71&31/ 9%/ var/ 3rgar
State Ohm’s law. Draw V-I graph for nichrome wire. 1+2=3
@3 SACH! foral | s S V-1 @3 g 3490 |
@7~ 3 A6 TN | ARFN O V-1 (T % FA |
iy @ for) e arf VoI s-aemit afa)

mmﬁww%?mﬁﬂm%%ﬂvlmml

\Wrcular coils A and B are placed close to each other. If the

current in the coil A is changed, will some current be induced in
the coil B? Give reasons. 1+2=3

TR JERT FIA A TIF B =R GBI S5 I (R | A JUArS 2712
+fRqSH 2°73 B IS 2R WIRE 2 7 IR WO |

7% JBRTW FOA A R B 7R IR TN 2R | A F9Acs [T
REN 231 B PYAICS 2712 WRB I F 2 IR e |

T SEAR W@ A A B @) TEsnE @Y @il eiiea sel ) A EEa
TERE AN Sdise B 1SEAE @Y SRR QIS 9m1? SR 8l

2 AR Feferi A 991 B TH-gW & Tz 8w §) aR gt A # Tagaum
F g aitadq B, A Feht B § w§ Frgaum W @nfi? wwor fiRaw)
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Or | 7231/ we31/ var/ srean

An electron enters a magnetic field at right angles to it as shown in
the figure below. What will be the direction of force acting on the

electron? Justify your answer. 1+2=3

ﬂﬁ%mammm%ﬁmmmaﬁ@@ﬁmw:
AR Soq© F2ra1 341 97 o 6 2772 e gl e 340 |

@ g @I pIe owea @ oAl S TS AT FCACR |
2R o fap 1 F0o WYY 203 2 Teean Wi [y A |

weiEE Rt aftd A e A s arfer AR greeat |
TOAZA AT ST WA St o w1 Smie? femafy awe Rg)

o fo & zwiy sgem ¢ e Rl graha &9 & & % e yaw
HT 8| IR W ARG 5t 1 fwm = Sft? 219 3 it geefan samsy)

Opr|O]
s : Lt
>

5
—>

Magnetic field / PIF G/
—> D3 v/ g Tifet /
FEHT &7

OL=0]
s
=
, A person cannot see nearby objects distinctly but can see distant

objects clearly. What could be the defect
the person j i
from? Draw a ray diagram correcting the defeit o Suffern;gz 3
. + =

& AR S5 IFCAR SHBF (741 Ao g
Wﬁwﬁ*m?ﬁmmﬁwg«mwﬁgzggll

R T I G =B ooz o o R
TR R

HEA I |
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R TR Efif gErecd ded e, e TeEe gEeRe el @

TR JaEEm W I E? 3 e wREm e STeEAE U6 JER
anfa |

o At P it awgell 9 gee 7 ¥ v, wg [ N TG H g

i@m%lﬂsaﬁsﬁaqﬁ-awﬁtﬂ%a%?sﬂﬁqaﬁﬁsﬂﬁﬁmﬁ@@
fF @ = me)

Or / 7&31/ et/ war/ raan

Sunlight is made up of seven colours. To prove this idea by Newton,

explain the recombination of the spectrum of white light by
drawing a ray diagram. 1+2=3

A (oN1=F TSB! TEA 53 | TG % qrReNchr il FRALA 90 (ART
AR 7[R AT I g wge FR 20 3]0 |

SR e STefb Aee o | o G 4R 2w TR T N A
AR AR A a6 I 101 I |

AR W AfE TER SuR) PR @ amenEE S e TR

T 1 FH @ T A 2| A R I U H e w3 F fon w@a v
¥ Taga % THeE 6t oo RE g sren S|

@ What is solar cell panel? What are the advantages associated with
solar cells?

14+2=3
TR R Fo1e 7 G o1 I/ Rz B &2
G SR T3 F 7 O (PR A R T o
TR Al YA W17 AR A SRR TR WIS 77 717
A e e w1 27 @R Al sraEr B g - &7
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_— 1
29, (o) 'j)eﬁne malleability.
N
4Tex qreTRAEe ee ford |
PR qSTRAITON LR (e |

uTgR JETERSTT FHRE & |
ST & g feRae)

() What is allotrope? Write the two allotropes of carbon.
Tet 6 7 PR T@el (o AW R |
Tet B 2 PR O T~ A T |
TR WY FEAEN ARl A g R
ITETF FAT 27 HEA & o JTETH! & AW fIRa)

(c) Explain amphoteric oxides with examples. 2
THRACIE e TodTht SHiET v 3947 |
TrrRaerTz. oot SEiEe I |
fafef2rst A aReit sreemgeR S@afy 7))
i ATFTEel # Fee wiva s i
Or / 731/ 991/ war / sreray

(a ich gas is produced when dilute hyd
to a reactive metal?

mmwwm’#ﬁﬁﬂﬁ@mﬂvﬁmﬁ (R ooy g 9
Wﬁmmaswﬁvmﬂmmmtqmim
ﬁ?ﬁwq@m?ﬂﬁm’ﬁ’ﬁ*@em%ﬁmmﬁaw?

ws fviramsfiq ¥ TR
ﬁnmﬁ?ﬁ%?% R TR R R W -

rochloric acid is added
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Mﬁte the chemical equations for the following reactions :
Tod R apmiE AR for

/
Aeva Riermafm armte J@aae @ :
TEE fEsmaRerf el Tamas o -
Frr arfufiranelt ¥ R tamafe s R

(i) Reaction of iron with steam

A AR AT SiRAa R

A AR R RN R

ERCL S R INEREEEIRI

g 3 T @R () 0 aAiiwa
(ii) Reaction of calcium with water

T =TS (et fRfer

e ek FEAEC R

3t afEmi e

Sot % a1 FiRem A At

y/ﬁat happens when zinc is added to a solution of iron(II)
sulphate? Write the chemical reaction that takes place. 2

W(Il)mm%mwﬁwm@ﬁmﬁﬂcbvﬂwﬁmmwmm
fRfermco foran |

SR STECEs 73e i 41g fiee | weh 2 ieelbs zew apmE
Rl e

ot EE(II) weike TudEeTE SRlsAl W W™I? e
TEEATR fhenegE for)

fre # IEA(I) Tehe & femm & Tem § w0 B }7 TWR
et At fafag)
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30. (a) Mention two properties of carbon which

mppm T S A AR o e e d A
3
=

( 24 )

- /"'

the huge

number of carbon compounds.

TR R 51 411 3 e IR (T cofrat TN,
R o 4 e o R vt e T, R

ﬁ@@mwl
oft T A |
S, 8 g
G 7 |
W%ﬁww-ﬁﬁ,ﬁﬁ%wmﬁmﬁwmm
B 87

(b) Write fhé reaction when ethanol is heated with alkaline

04 solution. Name the product of this reaction.
EWWKMnOﬁNﬁE@@zSﬁmwﬁsmﬁﬁmm
forar | (% RFIGR Ridrrers smeferR == for |
WA FRIW KMnO4 -3 % Teg 401 e zeq R
e | % Risrmoa Ricrarere omafba A @ |
TSl TR KMnO4Sit ST dmfsim feemase for) =
Toememsf e game for)
fofaw| @ wffFn % seae 1 @ Ry

\_JQ/Dfaw the electron dot structures of the following :

wore TRACART g Ry sfoet il - .
TR et R s e ’ %;&
TR SHEGRA a2 %91 19 Ry
o 1 e forg et R i
(i) Propanol (i) Propyne

o of1a1 o

CETo=a .

MREIE ,

q
- RIES|
B21-GS/31B
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Or / 71&31/ 5i%3r/ war/ srear
(@) What are unsaturated carbon compounds?
SRS IR QAR 2
oG I Qo F 2
TSR T GRABRT A17
ITEQE HreA v w1 &7

(b) A mixture of oxygen and ethyne is burnt for welding of iron.
Explain why a mixture of ethyne and air is not used. 2

@ @[ e (welding) SRRE W WA =R I A |
TR FATS Y W T T T, TR AL

@E (&8l WeIR SN (welding) SRECE @R 2R 72T I A |
B I IR (A IR FA W AL, [ FEA |

AR A FAFN & A5 Teg T AR WEAE | AT
IR FRA & AR AH SR S

AR ¥ afeen & forg stiwdiom qun 3umga % o =1 <g1 R st R
e BT & wl sumge o arg % s w6 v 7 e st ®)

(c) Write the structures of the two structural isomers for butane
and give their names.

R oow ST o 215 A e =1 By |
RGBT oI SN 453 oo @R FI8fPR TN coean |
ol aremafy AR T R SERR { R

A % T WEATHS THIEEE! oh TR a9 % T Rifaw
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, . here do the
31. do organisms require food? In what form and Win our body?

food substances that we consume get stored ultima'te.ly 1 to provi de
What are the different ways in which glucose 1s oxidize 11-1-%+1/§+ 3-5
energy in various organisms? =

Wwﬁwm?wﬁmwwﬁ‘ﬁﬁw
Wﬁ«a’sﬂﬁmmﬂ?ﬂ@imﬂmwwﬂﬁﬁm@mﬁ‘ﬁ
Qe A AfFIR AT S TR 96 2

SOm R A (R T2 S e s e A
SO B G T P A 2w 2 e qei crewrR el IS,
& o N ow o 2ifFwm =@ T TR T ?

REFrE! SRRA DRI SR AR S FEE STERGN Sy HJAEE
A S FreRR A S SE? Wit e arer TR e A/ I
T AEETAS T Wi SAfrasaAE S

St Y oW T T 27 TR g @ T seE od: §R TR e w9
3§ o for W & W A 27 R % st & e ohat 3 S S
#A & fafvm oy 701 87

Or | 71231/ 51431/ var/ srear

Draw a neat labelled diagram of a longitudinal section of the
human heart and show the course of blood flows through it with
arrow marks, and describe the course of blood flow very briefly.
State the importance of the valves present in between the auricles
and ventricles. 2+2+1=5

TR ZTEPIe b ~fw e trfiter &R i W 1S e g 2
LA 2D (N IS 27T 1 (79931 WF 7@ 22 o ofs 5 gy
firat | Sforw = fenm TreR FeBERE gFY T = |

TR TPRen @3 ARgm e trfioerm R it gaz Ry iz w

T fi iR 2ew 76 Rz SRYAS (e mﬂ@ﬁ:‘gs%::
b e Rz s 1 <o xR g iRl awy s ao |
SRR g 7 R e T R o S s R 30y
ISl AT & e fereh R S & TR Rt A TR ) o
TR SR A Ao reh | o
T T % A FE g9 W T T Wi Ry

e 1 i 20 i, o AT 2 7 e oy
i) e o e 5 i o e o et s
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8% A copvex mirror used for rear view of a car has a radius of

\_MZat’l'let; of 2 metre. If a truck is located at 15 metre from this
mirror, find the position, nature and size of the image. 5
Q¥ F AT Preist o1 Tew weened St pwd 2 WOR | AT 2R
15 b3 Aqe 1 G @ 2R g, oS S SR el 41
G @B MO P (R Tae weiem S apnd 2 f{vR 1wl e
15mmwm@mﬁ%ﬁm§qﬁ,a§ﬁsmwﬁﬂ$@l
¥ T qrEE TR R AR WEEAE TR g SR S
H’@amzﬁmuﬁgﬁﬁmm&@wmri%lﬂwﬁ?ﬂ’ﬁﬁﬁﬁmﬁﬁ
ST T Te SR AR, g A gEEE we e
@mﬁtﬁ@mw%@ﬁ%%ﬁm@imﬁm?ﬁwﬂaﬁn-ﬁw
2 WX ¥ 9 wF & W dw A 15 e # gt ® B, A sl f
TF T AER (HT) Tl hig |

Or | %3/ 531/ v/ stgar

We wish to obtain an erect image of an object using a concave
mirror of focal length 20 cm. What should be the range of distance

of the object from the mirror? What is the nature of the image? Is

the image larger or smaller than the object? Draw a ray diagram to
show the image formation. 5
20 cm TR (IR SO WA @A IRZR IR SN THRE OR |
ofefg o RO | AR [ TwE [{ed <R R @ e 2
AR s B 237 AR TTREels TIed (7 57 ? 2ifSR soa bl
3Pk foq =IgF ¥4 |

20 cm CFIFP OCdA G5 TREH 7ol IR I WA G0 AWIIE ATl
ARy e R 1 Tl (wF TR e cfvm I rewm e
ofeRes 23l | =2 el Twd (wF I I A @b w32
ot sioc «fb AP foa o e )

20 cm F'FM TAIRM TS AT T AEEAH | AR ga Awa o
gEd AR ARG SEATHEE AR g SR Sfe S A
FrEh SATgYT 1 S WEEsT ASRgAgs WA T gERe? af A
{7 gramR e |

90 cm FFEE T F TH A YU H IFN W #w el fom w1 da
Hﬁﬁﬁ??m%ﬁa%lﬁﬁﬁmﬁ@ﬂm&ange)wﬁmi@q?
sffim 6 vl w37 wiafem, e we1 ¢ s sie? w fof & sfofe
3 1 T T TRE SET

* % K
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